
 

Acid reactions 
- overall and ionic equations 
 

 

 

Reaction  

Sulphuric acid solution and 
aqueous sodium 
carbonate. 

Overall :H2SO4(aq) + Na2CO3 (aq)Na2SO4(aq)+H2O(l)+CO2(g) 
 
ionic : 2H+(aq) + CO3

-2(aq)  CO2(g) + H2O(l) 
 

Nitric acid solution and 
lithium metal 

Overall : 2HNO3(aq) + 2Li(s)  H2(g) +2LiNO3(aq) 
 
ionic : 2H+(aq) + 2Li(s)  H2(g) + 2Li+(aq) 
 

Hydrochloric acid solution 
and magnesium sulphide 
powder 

Overall : 2HCl(aq) + MgS(s)  H2S(g) + MgCl2(aq) 
 
ionic : 2H+(aq) + MgS(s)  H2S(g) + Mg2+(aq) 
 

Sulphuric acid solution and 
sodium oxide powder. 

Overall : H2SO4(aq) + Na2O(s)  Na2SO4(aq) + H2O(l) 
 
ionic : 2H+(aq) + Na2O(s)  2Na+(aq) + H2O(l) 
 

Nitric acid solution and 
aqueous calcium 
hydroxide. 

Overall : 2HNO3(aq) + Ca(OH)2(s)  2H2O(l) + Ca(NO3)2(aq) 
 
ionic : H+(aq) + OH-(aq)  H2O(l) 
 

Hydrochloric acid solution 
and aqueous sodium 
sulphite. 

Overall : 2HCl(aq) + Na2S (s)  H2S(g) + 2NaCl(aq) 
 
ionic : 2H+(aq) + S-2(aq)  H2S(g) 
 

Sulphuric acid solution and 
solid sodium hydroxide 

Overall : H2SO4(aq) + 2NaOH  Na2SO4(aq) + 2H2O(l)  
 

ionic : H+(aq) + OH-(aq)  H2O(l) 
 

Nitric acid solution and 
aqueous sodium 
carbonate. 

Overall :2HNO3(aq) + Na2CO3(aq)  H2O(l) + 2NaNO3(aq) + CO2(g) 
 

ionic : 2H+(aq) + CO3
-2(aq)  CO2(g) + H2O(l) 

 

 

 

Table 1 

Valency of common ions 


